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Time : 2 Hours]

Instructions : (1)

(2) Attempt any TWO questions in Section - I.
(3)  Question - 5 in Section - II is COMPULSORY.
(4) Use of calculator is permitted.
Section — I
1.  (A) Explain the following terms with illustrations :

(B)
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All Questions in Section - I carry equal marks.

(1) Diagonal matrix

(i) Symmetric matrix

(iii)) Skew-symmetric matrix

(iv) Upper triangular matrix

Solve the following equations by help of inverse matrix method :

2x+2z=y+6
x+3z=2y+6
3Ix+6=3y+z
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Write short notes on : 10
(i)  Laplace principle

(i) Maxi-min principle

(iil)) Maxi-max principle

(iv) Hurwitz’s principle

The cost price of an item is I 25 and its selling price is I 35. At the end of the
day, unsold item can be returned at ¥ 10 each. The probability distribution of

daily demand is as follows : 10

Demand (units) | 25 30 40 55

Probability 025 035 (025 |0.15

Decide how many units of an item should be kept daily to obtain maximum

profit.

Write the assumptions of theory of games and the payoff matrix of two players is

given below. Decide the best strategy for both and also find the value of game. Is

the game fair ? 10
Player B
-1 2 7 56
PlayerA| 6 4 5 7 5
1 -2 -3 3 8

Explain the principle of dominance in the solution of game and solve the

following game.

Player B
I I III
I (3 7 —12
Player A I |0 2 -1
m (14 s 9 10



4. (A) (1) Explain: Type-I and Type-II errors. 4

(1)) What is Standard Error ? State the uses of standard error. 6

(B) The means of the large samples of sizes 1200 and 1600 are respectively 87.5
and 89. Can the samples be regarded as drawn from the same population of S.D.

3.257? 10

Section — II

5. Answer any five from the following : 10
2 3
(1) IfA= 3 5 then find A?.

(2) State the condition for multiplication of two matrices.

3
3) IfA= {6 . } then find adjoint of A.

(4) The probabilities for events S, and S, respectively 0.4 and 0.6. If the value of
EMV is 166 and the value of pay for event S, is 190 then the value of pay for

event S, is

(5) IfEMV for acts are 150, 162 and 130 and EVPI = 28, find EPPL

(6) For a problem, an act has the maximum value 300 and minimum value 200.
According to Hurwitz’s principle an act has the value 240. Find the value of
optimistic and pessimistic coefficients.

(7) Explain : Saddle point.
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(8) Define two person zero sum game.

(9) Define : (i) Parameter, (ii) Null hypothesis

(10) Write the difference between small sample test and large sample test.
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